Counting objects — problem solving & reasoning .
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Which is the odd one out? | Sarah has made two part-whole
| diagrams to show related number
bonds.
|
|
|
|
Circle Sarah’s mistake and correct it.
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James has baked 20 cupcakes for a party. | Are these statements true or false?
|
He bakes 10 more cupcakes. | True
| Statement or
False
Which number sentence can help him |
work out how many he has altogether? | If 3+ 6=9, then
| 30 + 60 =90
- |
*1+3=4 | If 2+5 =7, then
©*2+1=3 20+5=70
|
°e1+1=2
| If 1 +5 =6, then
| 10 + 5 =60
|
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Counting objects — problem solving & reasoning

Which is the odd one out?

4+3=7

@ @ 40 +30=70

James has baked 20 cupcakes for a party.

He bakes 10 more cupcakes.

Which number sentence can help him
work out how many he has altogether?

e1+3=4
©2+1=3
o1+1=2
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Sarah has made two part-whole

diagrams to show related number
bonds.

Circle Sarah’s mistake and correct it.
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Are these statements true or false?

True
Statement or
False

If 3+6=29, then
30 + 60 =90

If 2+ 5 =7, then
20 +5=70

If 1 +5=6, then
10+5=60
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